MY 2]




~

IT|LIE[RA

v
=4
o
o
2]
o
Z
™
<

= f(x)E

F

S
[

[

21 yJ|
5|7 0l Ct.

f(x) 0ll A
210

i
-

y
of

x|

HIMY

2101 e BF



&~

|LIE|S A

INFINITYBOOKS
ol

5
ol
—
o1
NIO
JA'L

FH S AL

S22 |2t AHH2l I19 &

| Ot

0|
il
Kl

ulJ

H

AR
A0l W

K

il
o)l
<

ulJ

ol

K

-
o



olT|L|E[£A

I\I'I-Uilo EI:I l}'l" jINFINITYBOOK?:(

o AMO HHALLf(X) = mx+b

= &8 U0IeHE JHe & €8ot= JI=2JI2 E8HgE #

o HE 32 JI= A f(X) = Wx+b
J|2J|->II= X
HEH SHIO| | A
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o ZASIOIOIE AFOIS 2H2A S MBS &8t 2t2 =4 8H2(loss
function) &L= Ul & & ==(cost function)ct ) tLt.

Loss = %( (f(ﬁﬁ)_yl )2 + (f(ﬁz)_ Uo)g + (f(ffS) ’9‘3)2)
<L e
LOSS(I"Va b) — %.”1 (f(ifa)_ .%')2 — %.”1 (( W, + b) _yi)g

argmin Loss( W, b)
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o AL ot B (gradient descent method)
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Loss(W.b) _EE Wr.+b)—y,)

o0Loss(W.,b)
oW

— %2 2((Wx; +b)—y;)(x;)

oLoss(W,b) 2\ . B
5 = YN ((Wz,+b)—y,)

oLoss
oW
0Loss
ob

W= W-0.01*%

b=5b—0.01%
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import numpy as np
import matplotlib.pyplot as plt

X = np.array([0.0, 1.0, 2.0])
y = np.array([3.0, 3.5, 5.5])

)

W=0 #Jl=)l

b=0 #Z&H
lrate = 0.01 # SIS &
epochs = 1000 # Bt= ===

n = float(len(X)) # &= OIOIE 2| =

# AN BH2E
for i in range(epochs):
y pred =W*X+b # 0=z}
dW = (2/n) * sum(X * (y_pred-y))
db = (2/n) * sum(y_pred-y)
W=W-lrate*dW #JI2J| =&
b=b-lrate*db #&H =&
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#2212 EEH=S S5t

print (W, b)

# 0l=at=S Bt=L.
y_pred =W*X +b

#22 OOIHE =2 &0 B=C.
plt scatter(X y)

# 0 =gie dd=xE=z 1l
plt.plot([min(X), max(X)], [min(y_pred), max(y_pred)], color="red’)
plt.show()
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o A2 HAN ZZ2R SdI0|d2t25E= 0l R&E8 AI0IE
(https://playground.tensorflow.org) Ol Ct.

(_

Reqgressions, “1EH3FCE.

o

Cio|Ef MEZ AIEN3FCE

Epoch Learning rate Activation Regularization egularization rat Problem type
»
000,000 | - i - - - Regression

~ DATA FEATURES + — 2 HIDDEN LAYERS QUTPUT

Which dataset do Which properties Test loss 0.128
nt to use? do you want to aina loss. 0.130
s Y — g A& Training loss 0.130

- HES AN 53
SrLrui— Lr;‘rir_r_ w
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or With a Neural Network Right Here in Your Browser.
Don't Worry, You Can't Break It. We Promise.

Epoch Learning rate Activatior Regularization Regularization rate

M exp cL He ¥
000,081 003 . e v o . o BAMU SRES UL X

4 ot

DATA FEATURES + — 2 HIDDEN LAYERS OUTPUT
Vi NVhich properties Test loss 0.000
% ¢ L + - Training loss 0.000

you w e? d

D 1 neuron 1 neuron

B >>>>>>>>>>>>
-




L= Scikit-Learn 2101 E2{2| 2
A

o Ol2 ZEliA= OtLIZ2LH0 L2 & Of
= g= &=L

AMEDSIH 2| &

+
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import matplotlib.pylab as plt
from sklearn import linear_model

# 84 2|7 RS MAetlt.
reg = linear_model.LinearRegression()

#UOOIEHH= WOINM2| 2|AEZ Bt E &) OfLIHE E1H0[2] BHEZ Bt =HE &
X =1[0], [1], [2]] #2222 B=00F &
y = [3, 3.5, 5.5] #y=x+3

#sts= AZ2ILCH
reg.fit(X, y)

—h
—_—
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o S5 UOIH= Bt= Al 2XHE HIE O] H OF etCh(st & Gt
2XH& HHE el =0 0F etlh). et elAES| S|AEE Bt=
HA G2t &2 2X3 thg=s M detlt,
X b L
0 | 3
1 = 4
2 | 5
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>>> reg.coef_ # A2 Jl=)
array([1.25])

>>> reg.intercept_ # AN y-E2H
2.7500000000000004

>>> reg.score(X, y)
0.8928571428571429

>>> reg.predict([[5]])
array([8.])
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#ats HOIEHRty giS M4EE2 )ell}.
plt.scatter(X, y, color="black’)

—_

=5 HIOIEHE 23822 ot Gl=gt= Al &betCh.
pred = reg.predict(X)

Al
lt.plot(X, y_pred, color="blue’, linewidth=3)
plt.show()

#

y-

#st5 HOIEHZ Oisgtex dcH=E=2 Z)ellh.
# Hl o=

P

2 Jl2JI2y 28HS JtAl= 40| 4 &L
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o 12 M EH(overfitting)0l &t & &ot= HIOIEHWA = &0 S LEX
OF 22 OI0IE(2eEhH0l TiohM=E 8501 & UK 2= 242
MAHGt= A 0| L.

o UtA A g (underfitting)Ol et &5 HIOIEHUWAE ds0] EAl ®E2 &
LOICH 0l 320 2 AXIFEEA £2 3R ECL O usS
2a = z0L0F 8tCt.
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import matplotlib.pylab as plt
from sklearn import linear_model

reg = linear_model.LinearRegression()

X =[[174], [152], [138], [128], [186]]
y = [71, 55, 46, 38, 88]
reg.fit(X, y) #

]
i

print(reg.predict([[165]]))

#sts UOIEHZy et ¢EE =2 _1ell}.

plt.scatter(X, y, color="black’)
st UIOIHE 2822 ot O

y_pred = reg.predict(X)

CIOIEH 2 Hlsegtez 82 _)ellt.

#sts

#AHME DSty EEHE JtAl= AE0| 1A &L
plt.plot(X, y_pred, color="blue’, linewidth=3)
plt.show()
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import matplotlib.pylab as plt

import numpy as np

from sklearn.linear_model import LinearRegression
from sklearn import datasets

#2=9 OOIe MEE & X{etlt.
diabetes = datasets.load_diabetes()

#ors HOIEHZ HIAE HOIHE Z2lstlt.

from sklearn.model_selection import train_test_split

X_train, X_test, y_train, y_test = train_test_split(diabetes.data, diabetes.target,
test_size=0.2, random_state=0)

A9 ol REZ shs= s=dletll.
model = LinearRegression()
model.fit(X_train, y_train)




Mo 217l ol enro K

#HAE OOIEZ 0l =0olil 2 At.
y_pred = model.predict(X_test)

# &M HOIEH2 = HIOIHE Hl w) off £ At.
plt.plot(y_test, y_pred, ".)

o g

#&'&2 12fJ| 2ot =8t 85 GIOIEHE A&
= np.linspace(0, 330, 100)

y = X

plt.plot(x, y)

plt.show()
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